

Republic of the Philippines Department of Agriculture PHILIPPINE FIBER INDUSTRY DEVELOPMENT AUTHORITY

3/F DA-PCAF Bldg., Department of Agriculture, Elliptical Rd., Diliman, Quezon City

REQUEST FOR QUOTATION

The Philippine Fiber Industry Development Authority (PhilFIDA), thru its Bids and Awards Committee (BAC) invites all manufacturers, suppliers and distributors to send their sealed bids/quotations, within seven (7) days from publication hereof, for the supply/delivery of the items enumerated below:

CONTRACTS	ltem No.	Qty.	Unit	Description of Items	Approved Budget(PhP)	Place of Delivery
PR NO: 16-03-248				 Supply of Materials and Labor for the Painting of Engineering Workshop and Covered Work Area at PhilFIDA-Fiber Processing and Utilization Laboratory, BAI Compound, Visayas Ave., Diliman, Quezon City Note: Duration: Ten (10) days With six (6) months warranty on painting, materials and services See attached Scope of Works See attached Detailed Scope of Works 	134,934.64	FiberUtilization & Technology Division BAI Compound, Visayas Ave., Quezon City
				TOTAL	134,934.64	

Interested bidders must be included in the registry of manufacturers/suppliers/distributors in the PhilGEPS. <u>PRICE</u> <u>QUOTATIONS SHALL BE IN ORIGINAL COPY, DULY SIGNED AND SUBMITTED IN A SEALED ENVELOPE</u>. Please note that we do not accept quotations through email or fax. Information relating to examination, evaluation and comparison of price quotations shall be kept confidential.

Deadline for submission of quotation : 4 April 2016, PhilFIDA, 3/F DA-PCAF Bldg., Department of Agriculture, Elliptical Rd., Diliman, Quezon City.

Please submit your <u>sealed bid / quotation</u> only to the PhilFIDA-BAC Secretariat, addressed to Mr. Victor Y. Romano

For inquiries, please call BAC Secretariat at Telephone No. 2732474 to 78 / 9288756 to 65 local 2653.

JOSE/L CATALLA BAC, Chairperson



"Halamang Hibla: Yaman ng Bayan, Biyaya ng Kalikasan"

PROJECT

:

:

-Lattex Putty, Spot Putty

-Megacryl Latex Flat, two (2) coats, Dark Gray

PAINTING OF ENGINEERING WORKSHOP AND COVERED WORK AREA AT Philfida-FPUL PHILIPPINE FIBER INDUSTRY DEVELOPMENT AUTHORITY

OWNER LOCATION SUBJECT DATE

1.0

PHILIPPINE FIBER INDUSTRY DEVELOPMENT AUTHORITY BAI COMPOUND, VISAYAS AVENUE, DILIMAN, QUEZON CITY AGENCY ESTIMATE

: 9-Mar-16 UNIT COST TOTAL COST ITEM SCOPE OF WORKS QTY UNIT **Supply and Material** Flooring, 185.19 square-meter 8,050.00 -Eposeal Clear 7.00 gal 1,150.00 -Epopatch with Hardener, Full Putty 7.00 2,150.00 15,050.00 gal -Acreex, two (2) coats, Gray 15.00 1,150.00 17,250.00 gal Flooring Lines, 5.0 square-meter -Eposeal Clear 0.25 1,150.00 287.50 gal -Acreex, two (2) coats, Yellow 0.25 1,150.00 287.50 gal Interior Walls and Columns, 134.03 squaremeter -Concrete Nuetralizer 0.50 470.00 235.00 gal 500.00 -Acrylic Concrete Primer and Sealer 8.00 4,000.00 gal -Lattex Putty, Spot Putty 3.00 gal 315.00 945.00 -Megacryl Latex Flat, two (2) coats, Light 6,255.00 9.00 695.00 Yellow gal -Megacryl Latex Flat, two (2) coats, Red 0.25 945.00 236.25 gal Passion -Megacryl Latex Flat, two (2) coats, Gold Sunset 0.25 695.00 173.75 gal Exterior Walls, 28.48 square-meter -Concrete Nuetralizer 0.25 gal 470.00 117.50 -Acrylic Concrete Primer and Sealer 2.00 500.00 1,000.00 gal -Lattex Putty, Spot Putty 1.00 gal 315.00 315.00 -Megacryl Latex Flat, two (2) coats, Gold Sunset 2.00 gal 695.00 1,390.00 Interior Ceiling, 165.11 square-meter -Metal Primer-Red Oxide 420.00 6.00 2,520.00 gal -Gloss It-Quick Drying Enamel, two (2) coats, White 11.00 gal 645.00 7,095.00 Exterior Ceiling, 17.90 square-meter -Concrete Nuetralizer 0.25 470.00 117.50 gal -Acrylic Concrete Primer and Sealer 2.00 500.00 1,000.00 gal -Lattex Putty, Spot Putty 315.00 315.00 1.00 gal -Megacryl Latex Flat, two (2) coats, Light Gray 2.00 695.00 1,390.00 gal Faschia Board, 1.81 square-meter -Concrete Nuetralizer 0.15 gal 470.00 70.50 -Acrylic Concrete Primer and Sealer 0.20 500.00 100.00 gal

315.00

695.00

0.15

0.25

gal

gal

47.25

173.75

Painting Tools and Consumables				
Paint roller, 9"	7.00	рс	65.00	455.00
Paint roller, 7"	6.00	рс	55.00	330.00
Paint roller, 4"	6.00	рс	45.00	270.00
Roller tray (for 9" roller)	4.00	рс	80.00	320.00
Roller tray (for 7" roller)	4.00	рс	120.00	480.00
Roller tray (for 4" roller)	5.00	рс	120.00	600.00
Paint brush, 3"	5.00	рс	75.00	375.00
Paint brush, 2"	3.00	рс	65.00	195.00
Paint brush, 1½"	3.00	рс	60.00	180.00
Paint brush, 1"	3.00	рс	30.00	90.00
Sand paper	50.00	рс	15.00	750.00
Rugs	2.00	kg	40.00	80.00
Masking Tape, 2"W	2.00	рс	20.00	40.00
Metal Scraper	2.00	рс	50.00	100.00
Hand Gloves, Cotton	5.00	рс	30.00	150.00
Surgical Mask	10.00	рс	30.00	300.00
Container, Pail, Medium Size	3.00	рс	50.00	150.00
Paint Thinner	4.00	bottle	35.00	140.00
Putty plate	5.00	рс	25.00	125.00
		Sub-total		73,551.50

2.0

Labor is forty percent (40%) of the total supply and material cost

Conduct of actual site verification on the areas for painting including the paint's colors on what the customer wants and etc.
Preparation of surfaces of walls, ceiling, columns, faschia before painting
For floor's painting, provide sufficient and with good quality of the following materials; eposeal clear, epopatch with hardener (full putty) and Acreex (2 coats)
For painting of concrete walls, ceiling, columns, faschias and etc., provide sufficient and with good quality of the following materials; concrete nuetralizer, acrylic concrete primer and sealer, latex putty and megacryrl latex flat (2 coats)

-For painting of metal ceiling, provide sufficient and with good quality of the following materials; primer red oxide and gloss it-quick drying enamel (2 coats) -Cleaning of project site and disposal of waste

-Provision of six (6) months warranty of material and services

		29,420.60
Sub-total		29,420.60
Total Material Costs	Р	73,551.50
Total Labor Cost		29,420.60

 Total Direct Cost
 102,972.10

 Total Indirect Cost (17%)
 17,505.26

 Total Taxes (12%)
 14,457.28

 Total Contract Cost
 P

 134,934.64

Prepared by:

RAMIL B. BARCELONA Engineer III

ROMEO P. DE VERA

Recommending Approval:

REMEDIOS V. ABGONA, PhD Chief, FUTD

Check and reviewed by:

IRMA B. RODIS Engineer II, Agricultural Engineer

Approved:

6

DR. CLARITO M. BARRON, CESO IV ~ OIC, Executive Director

Project: Painting of Engineering Workshop and Covered Work Area at PhilFIDA-Fiber Processing and Utilization Laboratory

Owner: Philippine Fiber Industry Development Authority (PhilFIDA) Location: BAI Compound, Visayas Avenue, Diliman, Quezon City Budget: PhP 134, 934.64 only Duration: Ten (10) days

DETAILED SCOPE OF WORKS

1. Conduct of actual site verification on the areas for painting including the right colors on what the customer wants and etc..

2. For floor's painting (including yellow safety lines), provide sufficient and with good quality of the following materials; eposeal clear, epopatch with hardener (full putty) and Acreex (2 coats).

3. For painting of concrete walls, ceiling, columns, faschias and etc., provide sufficient and with good quality of the following materials; concrete nuetralizer, acrylic concrete primer and sealer, latex putty and megacryrl latex flat (2 coats).

4. For painting of metal ceiling, provide sufficient and with good quality of the following materials; primer red oxide and gloss it-quick drying enamel (2 coats).

5. Cleaning of project site and disposal of waste.

6. Provision of six (6) months warranty on painting materials and services.

Prepared by RAMIL B. BARCELONA Engineer III

Recommending Approval:

REMEDIOS V. ABGONA, PhD Chief, FUTD

Approved:

DR. CLARITO M. BARRON, CESO IV OIC, Executive Director